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Finding a Percentage of a Quantity
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Percentage of a Quantity Challenges
Have a bash at the following questions! Remember, to find 10% of an amount you divide it by 10, and to find 1% of an amount you divide it by 100!
1. 10% of 500
2. 10% of 800
3. 10% of 600
4. 10% of 70
5. 10% of 90
6. 10% of 140
7. 20% of 80
8. 30% of 300
9. 1% of 300
10. 1% of 600
Feeling confident with these? If so have a go at these questions!
11. 13% of 500
12. 12% of 800
13. 11% of 600
14. 26% of 700
15. 21% of 900

Percentages in context!
1. If Bobby went to the shop and there was a 20% sale. He was going to buy a top for £20. 
a. How much does Bobby save?
b. What is the new price of the top?
2. If Sarah went to the shop and there was a 10% sale. She was going to buy 7 CDs for £60. 
a. How much does Sarah save?
b. What is the new price of the CDs?
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So what is 1% of 4007 We have to divide 400 into the 100 boxea:

What is 400 divided by 100?
400 divided by 100 is 4, so there would be 4 in each box!
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Now each column represents 10%. So how do we find 10%
of an amount?
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So what is 10% of 4007 We have to divide the 400 into the
10 columns... 400 divided by 10 is 40!
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So how can we find 11% of 4007 First we need to find 1%,

Then 10% and then add them together?
S0 11% of 400 = 44!
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So what would 20% of 400 be?

First find 10% of 400 and then double it!

What is 21% of 4007
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The outer rectangle has been divided into 100 equal sections.
In total we can see 100%

100 x 1% = 100%





